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(Chapter)
/ /

@ Integers

" Exercise — 1A

Q1.

Q2.

Q3.

Q4.

(a) 25
(b) 74
(c) 63
d 12
@) (-3)* x(=2)* (=1’
=9x16x—-1=-144
(b) | -8[+ 8]
8+8=16
©[=3|+[=2]+[=7]
3+2+7=12
(d) S5X[25+{(—4)x (16 -8+2)}]
S5X[25+{(-4)x(16—-4)}]
S5X[25+(—4)x12]
5 X[25 - 48]
5%(-23)=-115
(a) —9and 8
-9+8=-1
b)17+(-2)=15
() -6+6=0
Subtract
(a) 15 from -2
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Qs.

Q6.
Q7.

Q8.

Q9.

(-2)-15=-(15+2)=-17

(b) —4 from -3
(-3)—-(-4)=-3+4=1

(¢) —18 from 13
—-13-(-18)=13+18=31

Let Sum of integer a and b = (—15)

If a=-18

-18+b=-15
b=-15+18
b=3

So, other integer = 3

0 is the integer which is neither positive nor negative.
(—36+52)— 48
16— 48 = —32
(=34 +40)— [-9+ (~19 )]
6—-[(-9-19)]
6—(-28)
6+28 =34
(@ (-3)+(-4) 1 (-8)-(4
(—-8)— 4 —8+4
~12 —4
M 23-41+11 [ 23-41-11
-7 ~29
(©)39+(=24)-15 [ 36+ (=52)—(-36)
39-24-15 36—52+36
0 20
@ -231+79+51 0 —399+159+81
~101 ~159
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= Exercise — 1B

Q1. (a)(-1)x225=-225
(b) (-316)x(-1)=1316
(©) (=D x(=2)x(=3)x(-4) =24
(@) (=3)x(=6)x(=2)x(=1) =36
(e) (—18)x(=5)x(—4)=-360

Q2. (@) (-35+5)=-7
(b) (-70)+(-14)=70+14=5
©121+(-1)=—-(121+11)=-11
(d) (-1899)+9=—-(1899+9)=-211
(e)0+(-12)=0

Q3. (a) positive
(b) negative
(¢) 75
(d) —48
(e) -10
®H -9

(g) 11
= Exercise — 1C

Q1. (a)False
(b) True
(c) False
(d) False
(e) True
Q2. (a)(433x549)x0
(433x0)x549=0x%x549=0
(b) 156 x88 +156 x1
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Q3.

Q4.

Q5.

156(88 + 1) =156 x89 = 13884
(c) 235%28+235
23528 +1)=235+29 = 6815
(d) (=111)x (= 44) + (- 44)x (=121)
44(111+121) = 44 x232 = 10208
(a) 2X[(=6)x(=7)]
2% [42] = 84
(b) —12x[(-10)x(5)]
~12%(=50) = 600
() 9% [-1x(2)]
—9x-2=18
(d) 143 X [(=100) x (=1)]
143 x100 = 14300
(a) 3x(~16)=—48
(b) (~122)x 4 = — 488
(c) (-98) x (~81) = 7938
(d) (=1)x(=9) x(=345) = — (9 x345) = -3105
(2) 4X (=6 +x)=5%(=2)+3
24 +4x=-10+3
4x = —T7+24
17
T4
(b) (213 x77)+(77%x213) = 213X 77) + (x x213)
(213X 77)+ (77 x213) = (213X 77) = x x213

77%x213
X =
213

() 15X (14 +32) = (15 x14) + (x x32)

X

=77
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(15%x14)+ (15x32) — (15 x14) = (x x32)
1532
x: =
32

15

= Fxercise — 1D

Q1.

Q2.

Q3.

Q4.

Qs.

Let one number be = x
Then x+250=-310
x =-310+(-250)

x =-560
Let one of them be x
So, —4xx =128
x= % =-32
x=-32

An aircraft
Fly at height = 650 m
Land at height =260 m
So, height loss = 390 m
Temperaturing during months = 23°C
Actual temperature at 6 am =23 -7 =16°C
At9am=23+5=28°C
At 12noon=23+8=31°C
At4pm=23+2=25°C
Given Profit of 1 bag of white cement =% 8
Loss of 1 bag of grey cement =% 5
(a) Profit on selling 3000 bags of white cement
= 3000 %8
=3 24,000
Loss of selling 5000 bags of grey cement
=5000x%5
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=325,000
Since Profit < Loss
Therefore, his total loss on selling the grey cement
bags = Loss — Profit
= 25,000 — 24,000
= 1,000
(b) Let the number of bags of white cement be x
According to question, Loss = Profit
5%6,400=xx8
5 %6400
x=

= = 4000 bags

Thus, he must sell 4000 white cement bags to have
neither profit nor loss.
Q6. (a) Marks given for one correct answer = 3
Marks given for 12 correct answers =3 xX12 =36
Priya scored 20 marks
Therefore, Marks obtained for incorrect answers
=20-36
=-16
Now marks given for one incorrect answer = —2
Number of incorrect answers = (—16) +(—2)
=38
(b) Marks given for seven correct answers =3 x 7 =21
Palas scores = =5
Marks obtained for incorrect answers = =5 —21 = —-26
Now, marks given for one incorrect answer = —2
Therefore, number of incorrect answers = (—26) +(—2)
=13
Thus, Palak has attempted 13 incorrect questions.
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Q7. Total distance covered by chaft=10 m—(-350) m
=10+350
=360 m
Now, time taken to cover a distance of 6 m by it
= 1 minute

So, time taken to cover a distance of 1 mby it
1 .
= — minute
6

time taken to cover a distance of 360 m
1

= A %360
= 60 minutes
=1hour
Thus, in one hour the mine shaft reaches —350 below
the ground.
= Multiple Choice Questions
Q1. (b)
Let one number be x
Then —-16=-8+x

-16+8=x
—8=x
Q2. (d)
5-(-9)=+14
Q3. (a)
Let ‘x’ must be subtracted
So, —2—-x=-6
6-2=x
4=x
Q4. (b)
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Qs.
Q6.

Q7.

Q8.

Let number be ‘@’

a. 15
3AT
So, a=-45
(©0
(@)
({—8 +(-12)} - IO)X_2
3
(210 (22,
3 3
—-10x-2=+420
(b)
0+-8=0
(a)

tanker contains = 400 /
decrease in petrol in 1 hour =9/
and in 10 hours =90 /

So, left petrol is = 400-90 =310/
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(Chapter)

y J °
Fractions and
N Decimals
= Exercise — 2A
3 4 3+4
Ql. (a)g'f‘g—?
_7
5
8 3 8-3
A TAT
_3
17
5 9 5+9
© T 11
_14
14
15 11 15-11
@D 0T
_4
21
16 17
Q2. (a)?—7
16X7-17x5 11285
35 35
_27
35
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Q3.

b+ -2
()2 3 4 12
_30+28+(-15)
12
_8
12
(c)4l+3l=2—5+E
6 4 6 4
_25%x2+13x%3
12
50+39 89 5
or —
12 12 12
7 5x10+3x2-7xl1
(d)— o
5 10 10
_50+6-7
10
:Q or 42
10 10
5 3 15
@45
(b)3—x6§:£x£
5 7 5 7
_855
35
1
7
3 51
)17 xXx—=—
(c) 275
2 7 9
d)—Xl==—x—=-—=
() 7 9 7

7 5 _5x6+7x4+(=5)x3
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1 176 44
4. (a) —X—=—
Q4. « )4 31 31
(1) 21000 _ 100
10 999 11

Q5. Total students = 475
Girls = % of them = % X475

So, 190 students were girls
Boys = 475-190 = 285
Boys = 285
5 3 3
Q6. (a)InAABE, AB = Ecm, BE = ZZ cm, AE = 3§ cm
Perimeter = AB+ BE + AE
:§+2§+3é
2 4 5
5 11 18
==+—+—
2 4 5
_50+55+72
20
_17
20
17

=8—cm
20

(b) In rectangle BCDE, BE = 2% cm, ED = % cm

Perimeter = 2 (length + breadth)

:2(224_1)
4 6
4 6
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-4
6
= 7é cm
6
8H cm > 7é cm
20 6
.. the perimeter of A ABFE is greater than that of rectangle
BCDE.
Q7. Part solved by Ramesh = %
4
Part solved by Seema = 5
LCM of 7 and 5 =35
2 2.5 10 4 4x7 28
809 —=—X—-=— —_—
7 7 5 35 5 5x7 35
Thus, 10 < 28
35 35
. 2 4
ie., Z<—
7 5

So, Ramesh solved lesser part.

Q8. In 1 litre of petrol, car covers the distance = 16 km

3. .
In 2Z litres of petrol, car covers the distance

:2§of16km
4
:%x16:44km

Thus, car will cover 44 km distance.
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Q. (a)2§+|:|=6

6 18
17
_42-18
7
=—4 or 3z
7
12 .3 O
Oy
12 11 O
1 4 4
48-11 37
4 4

So, missing number = 37
(c)51+9gzﬁ+§=ﬁorl4%
3 3 3 3 3 3
@od_pl_T5_17_58_20 1
g8 8 8 8 8 4 4

Q10. (a) Divide % by 9

24 4
30x9 25

15 45%x7
b) Divide 45 by — = =
(b) Y= 5

21

© 22D or32
2x2 4 4

ihal 2.0

375 3
QUL @) —— =735

3Lkt Pk

474 474
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_24x16
15x13%5
128
325
61,541 1834541
24 24
®) 1838+(—17) 549187
TR 33
_724x33 113

24%362 4 4
Q12. A man has ¥ 9,600

To Ist son= é %9600 = 1600 to Ist son

Remaining left =3 9600 — ¥ 1600 =X 8000
To 2nd son = i x X 8000 =%2000

To his wife =3 9600 - 2000 — ¥ 1600 =X 6000

Q13. Let the number be x

5§><x=3l
6 3

35 10

6

3
10_6
— X
3

4

7

Q14. Let the number of tickets be x

Price of one ticket = 50% =3 &

Price of x tickets = % X X
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_ 203x

4
Total amount = 6496
So, 203x _ (496

203x = 6496 x 4
25984

203
x =128
Total number of tickets sold is 128.
= Exercise — 2B
1 2 3 1 3
QL @ xgeT=Ixex
i

20

m1tslin=T 0
6 2 6 2

1

7 2 12
=—X=
6 1
=28
12 13 12 4
()——— xX4+7= —3——><
13 7 13 7
_13. 48
7 91
Q
-7
ﬁ
91
13 91
— X—
7 48
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_169
48
1

5 1 s
d)| Hx19 5 = | -x-x19]+5
“| (5 19 j

5

() E+§j+(ﬁ_£)0fﬂ
5 05)\3 5) 20

16 5) (16X5—11x3) 11
—X— |+ ———/—— |of —
5 6 15 20

8) (80-33) 11
N of —
3) ( 15 ) 20

8) (47 11)
— |+ — X —
3 1520
8 15x20 _ 800
3 47x11 517
(D£+Eof3+lof§_ﬂ
5 5 5 2 4 72
12 6 3 107 12 25 3

107

5258 72 5 6 8
_10,3_107
1 8 72
720+27-107 _ 640
72 72
9 9
(g)2zof2l+l><4l_2%+§
3 4 9 2 3 9
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2
21 [9 37 16 1 27 1

X— 4+ -— X g
4 1271071573 4 2

21 [45-3] 16_1 27

A =310 1 27, 18
41710 |T1573 74273
2

1 42 16_1 27 1
—+—+—X———+—0f =
4 10 15 3 4 2 3
21 42 16 1 27 4
—t+—+—X=—— =
4 10 15 3 4
2

3
142151272
4

(h)

4 1016 3 4
49 2181
g8 16 16
98 +21-281 38 3
_— = 2
16 16 8
w Exercise — 2C

Ql. (a)7>0.7
(b) 0.8 <0.88
(¢) 2.03 <2.30

7
6
7
6
7
EX
7
6
7
6

8
2. (a)—=0.08
Q2 @15

(b) 20+ 2 + 2 =20+0.9+0.04
10 100
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Q3.

Q4.

Qs.

Q6.

=20.94

(c)23+£+iz23+0.2+0.006
10 1000
=23.206
77 rupees 77 paise
?77+?£=?77+?0.77=?77.77
100
+100cm=1m
1 5
lecm=—m = 5cm=——=0.05m
100 100
Now, - 1000 m=1km
m=Lkm
1000

0.05m= 0.05 =0.00005 km
1000

1
4 kg + 8 x—— |kg=4kg+0.008 k
g ( 1000) g g g

= 4.008 kg

(a)20.03
3

20+ —
100

(b) 2.03
3
100
(¢) 200.03
200 + 3
100
(d) 2.034
34

+ PR
1000
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Q7. 36.85+x=59.41

Q8.

x=159.41-36.85
=22.56
42.6 km—28 km =14.6 km

= Exercise — 2D

Q1.

Q2.

Q3.

Q4.

Qs.

Q6.

(a) 8x4.6=36.8
(b) 20.1x4 =80.4
(¢) 0.05x7=0.35
(d) 211.02 x4 = 844.08

Cost of a book =3 25.75
Cost of 24 books = 24 x¥ 25.75

=3618
Cost of 24 books is X 618.
(a) 36.8 x10=368.0
(b) 168.07 x10 = 1680.7
(¢) 31.1x100=3110.0
(d) 3.62x100 =362.0
(e) 0.08 x10=10.80
() 0.03x1000 = 30.0
In one litre of petrol distance covered = 14.75 km
In 15.5 litres of petrol distance covered = 14.75 x15.5
=228.625 km
Car covers 228.625 kmin 15.5 litres of petrol.

(a)2.5x0.3=0.75
(b) 1.3x3.1=4.03
(¢)101.01x0.01=1.0101
(d) 10.05x1.05=10.5525
Cost of 1 kg of rice =3 42.65
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Cost 0f'18.25 kg of rice =¥ 42.65 x18.25
=3 778.3625
Cost 0f'18.25 kg of rice is ¥ 778.3625.
= Exercise — 2E

35 1
1. (@)035+5=—X%x—
Q @) 100 5

7 0.07

~ 100

) 654+6=241
10 76

=@=10.9

10

()14.49+7= @xl
100 7

=207 507
100
(d)0.80+5=-"0 1
1005
=16 516
100
Q2 (a)52.5+10=2>
10
=525
33.1
b)33.1+10= 22~
(b) 10
=331
27223

(¢)272.23+10 =

=27.223
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Q3.

Q4.

d)3.97+10=>2"
10

=0.397

(2) 0.3 + mo_f--i—
10”100

=3 —0.003

1000

(b) 0.78 4100 = > x 1
100 100

= 78 00078

10000

(c) 432.6+100 = 4326 ><L
10 100

= @ =4326

1000

(d) 98.53+100 = 9853 ><L
100 100

= 9853 =0.9853

1000

@)263+1000= 23 1
10~ 1000

= 263 =0.0263

10000
(b) 38.53+1000 = >0 1
100 ~ 1000

3853

= =0.03853

100000

(©) 051000 = — x——
10”1000

_ 0 0.0005

10000
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) 128.9+1000= 12221

10 1000
_ 1289 0.1289
10000

Q5. (2)36+0.2=36 +%

=36><E
2
=18x10=180
(b) 30.94 + 07—ﬁ—l
100 10
3094 10
= — X —
100 7
=32
10
(¢) 0.5+ 025—3—2—5
10 100
5 100
= — X —-
10 25
_10
5
@ 7.75+0.15= 112 1>
100 100
775 100
= — X —
100 15
=E:51.66
15
©273+13=21.1
100 10
27310

=" x—
100 13

=2
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Q6.

Q7.

Ql.

Q2.

=—=21
10
378 14
37.8+14="—+—
® 10 10
8,10,
10 14
0.54xx=1.8576
_ 1.8576
0.54
_ 1.8576 @
10000 54
=344
Cost 0of 14.5 litres of refined oil =3 1194.80
Cost of 1 litre of refined oil = 1194.80
14.5
119480 xﬂ
100 145
=3824
= Multiple Choice Questions
9
C —
(c) ;
-6
C —
(c) 5

Q3.
Q4.

Qs.
Q6.

(a) like fractions

(a) Boys in the class = 20 x%

So, girls in the class are =20—-15=5
(a) 500.84
(d)0.012x0.15
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_ 12 15
1000~ 100
180
100000
=0.0018
Q7. (c)17=1000 m!
lml=Ll
1000
8 ml=8x——|
1000
8

=——=20.008/
1000

Q8. (a)75.57+0.01
7557 100

——— X——="7557
100 1

PAQA @k
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(Chapter)

@ Data Handling

= Exercise — 3A

Q1. Do yourself
Q2. Do yourself
Q3. Do yourself
Q4. (a) 10
(b) 40
() 10
Q5. 1,2,2,3,4,4,4,5,5,5,5,5,6,6,6,6,7,7,8,9
Range=9-1=8
= Exercise — 3B

Q1. Multiple of 10 =10, 20, 30, 40, 50

Mean = %= 30

1404+24+34+0+24+34+4+0+2+5
11

Q2.
Mean = 2= 2
11

Median = (112-'_ 1)

:2=6
2

Arranging data in ascending order
=0,0,0,1,2,2,2,3,3,4,5
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Value =2

Q3.
x f xf
115 5 115%5
125 25 125%25
135 4 135%4
145 6 145 %6
155 40 155 %40
165 20 165 %20
3f =100 Sxf = 14610

Mean = M =146.1
100

Q4. Arranging the given data in ascending order
32, 35, 36, 37, 38, 38, 38, 40, 42, 43, 43, 43, 45, 47, 50
(a) Mode = 38 and 43
Median = 40

(b) Yes, there are 2 modes.
3X3+6Xx5+10X1+12%x8+7x13+15%10

Q5. Mean =

3+5+1+8+13+10
_ 386
T 40
=9.65
|_40th21tem—| + {420 + 1} th item
Median =

2
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20th item + 2 1th item
2

Median =

1+
T2
=7
Q6. Mean = 20; Median = 25; Mode = ?
Mode = 3 X median — 2 X mean
=3x25-2x20
=75-40
=35
Q7. Frequency 9 is the highest, so mode = 52

Q8. Mean
2454+34+34+0+18+5+7+11+15+1+13+0

+8+0

15
91

15

= 60.6

Median = 1541

= 8th item
= Exercise — 3C

Q1. Do yourself

Q2. (a) The bar graph shows the area of 5 regions on earth.
(b) India, 44 million km?
(¢) 16 million km?
(d) 16 million km?

Q3. (a) Most popular game among 200 students of a school.
(b) cricket, 60
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(c) volley ball, 20
(d) 20
(e)60:30=2:1
Q4. Do yourself
Q5. Do yourself
Q6. (b) Cricket is most popular.
(¢) Watching sports is more preferred.
= Exercise — 3D
Q1. Total outcomes=17+16 =33

Probability of girl's name = No of girls
Total
_ 16
33
Total outcome = 300
Probability of a baby boy = No of boys
Total
157
300

Q2. Total outcome =6
No of ‘6’ india
Total

(a) Probability of getting 6’ is =

(b) No of possible value =1,2,3,4,5,6 i.e., 6

No of favourable outcome = 2, 4, 6 are even =3
1

3
Probability = — = —
R 6 2

No of favourable event

3. Probability =
Q 4 No of possible event
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Q4.

Q5. Probability =

No of favourable result
250

0.016 X250 = No of favourable results

No of favourable results = 4

0.016 =

ie., Mahi farmly brought 4 tickets.
Sample space

HH

HT

TH

TT
Case I

Total outcome =2
No of ‘H’ occur
Total

Probability =

1
2
Case 11

Total outcome = 6
No of 4 occur

Probability =
Total outcome
_1!
6
1 1
J— > J—
2 6

So, Case I is more.
No. of head occur
Total

_ 200
500
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Q6. Total days in a week = 7
No. of Tuesday occur

Probability =
Total
_1
7

= Multiple Choice Questions
Q1. (b)
Q2. (d

2+4+6+8+10 —£—6

5 5

Q3. (a)

1+3+5+7+9 _2_5_5

5 5

Q4. (d
Qs. (a)

Total =11

Probability = 0 °TM _ 2

Total 11

Q6. (2)

Total = 6

Probability = 0 o1 o occur _ 1

Total 6
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(Chapter)
N Simple
N Equations

"> Exercise — 4A

Ql. (a)3x+11=32
(b)6x-5=17
(€) Tm+7=77

b
@<=6
(e)lx—4—4

i =

() 10a =70
Q2. (a) Taking away 5 from x gives 9.
(b) Two time m is 7.
(¢) The number m divided by 5 gives 3.
(d) Five times p is 20.
(e) The sum of there times p and 4 is 25.

(f) If you subtract 2 from 4 times a number p you get 18.
Q3. (ax+3=0
3+3#0
No
(b)y4p-3=13
4(1)-3=13
4-3+#13
No
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Q4.

(c)n+5=19
1+5#19
No

m
(d)?—2

=2

W | N

Yes
() 7n+5=19
7(-2)+5#19
No
) 4p-3=13
41)-3#13
No
(a) Let Raju's age be x years.
Raju's father's age =3x +5
3x+5=44
3x=44-5
3x =39
(b) Let the base angle of the isoceles triangle be b, so
vertex angle = 2b
2b+b+b=180° (Angle sum properly of A)
4b =180°
(c) Let the lowest marks be x.
Highest marks = 2x + 7
2x+7=287
2x=87-17
2x =80
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w Exercise — 4B

Q1. (a) x+6=2
= x+6-6=2-6
= x=-4
(b) y+4=4
= y+4-4=4-4
= y=0
(©) 8y =36

= l><8y:36><l
8 8

= y=4.5
a 7
d —=—
) 5 15
= SxﬁleS
5 15
7
= a=—
3
(e) 20—p:40
3
o 3200403
20 3 20
= p=6
) 20t =-10
= —x20t=-10x—
1
= t=-=
2
(g) Sm+7=17
= 5Sm+7-7=17-7
= Sm=10
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= m=2
Q2. (a) 10p+10=100
= 10p=100-10

= 10p=90
90
:—:9
=70
Check 10(a)+10=90+10 = 100
P
by -L=3
(b) 3
= P=s
= p=-15

Check _(;15) =5

(¢)3s=-9

§=—=

3
s=-3
Check 35 = -9
3(-3)=-9
(d)2g+6=0
2g=—6
-6
9= 5= -3
Check2(-3)+6=0
—-6+6=0
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Tm =

(SHIEN

X |
-3

m=

N — N

2b
2 _5=3
(e 3

23—b:3+5
2b
3 -
2b=8x%3
2b=24
b=12
Q4. (a)-4Q2+x)=8
—8—4x =8
—4x=8+8
—4x =16
=
(b)3(n-5)=21
3In—-15=21
3n=21+15
3n=36
=3 =
©2(x+4)=12
2x+8=12

8

X -4

n 12
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d)0=16+4(m—-06)
0=16+4m—-24
0=-8+4m
8=4m
Z:m
m=2
e)4+5(p—-1)=34
445p-5=34
Sp—1=34
Sp=34+1
S5p=35
35
P=?=7
Q5. (@S5p+2=17
= p=1 5D)+2=#17
= p=2 52)+2=+17
= p=3 53)+2=17

1542=17
(b)3m—14=4
= m=1 3(1)— 144
= m=2 3(2)-14#4
= m=3 3(3)- 144
= m=4 3(4)-14% 4
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= m=5 3(5)—14#4
= m=6 3(6)—14=4
18—14=4

w Exercise — 4C

(a) Let the number be x
3x-5=16
3x=16+5
3x=21
21
)
x=17
(b) Let the number be x
8x+4=060
8x =60-4
8x =56
=5 =
(c) Let the number be x.
5x =x+380
5x —x =280
4x =80
_ 80
T4
x =20
(d) Let the number be x.

X

X 7

X

X_y

9
x=9%x4
x =36
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(e) Let the number be x.

éx—7:23
2

§x=23+7
2

éx:30
2

30x2
X =
5

60

X=—
5

x=12

Q2. (a) Let the present age of Mona be x years.

Mona's father age = 3x
Now
3x+12=2x
3x-2x=12
x=12
Age of Mona is 12 years.
Age of her father is 12 X3 = 36 years
(b) Let the base angle of x.
x+x+40=180° (Angle Sum property of triangle)

2x+40=180
2x =180-40
2x =140
x=@=70
2

(¢) Let Pandy has x number of marbles.

Thus, no, of marbles with Andy = 2x
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(x+2x) 3x

No. of marbles with Sandy = 5

2x =75+ 3x
2
_ (150 +3x)
2
4x =150+ 3x
x =150

Thus, Pandy has 150 marbles.

Marbles with Andy =2 x150 =300

(3x150)

2

_ 450
2
=225

Q3. (a) Let Raju's age be x years.

2x

Marbles with Sandy =

Raju's father age =3x + 5
3x+5=44
3x=44-5
w2
3
=13 years
Raju is 13 years old.
(b) Let the breadth be b m

Length of rectangular field = 25
Perimeter of rectangular field=2(/+ b)
150=2(2b+b)
150=4b+2b
150 =6b
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150
e
25=b
Breadth=25m
Length =25b
=2x25
=50m
= Multiple Choice Questions

Q1. (b)

b

Q2. (d)

Q3. (b)
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x+2x:70
5

Sx+2x
s -
Sx+2x=70%x5
_70X5
7
x =150
Q4. (d)
2(2n+5)=33n-10)
4n+10=9n-30
10+30=9n—4n
40 =5n
40
-

8=n

70

Tx

n

Qs. (a)
n—-31=75-n
n+n="75+31

2n =106

_106

n=>53
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Chapter

= Lines and
N Angles

= Exercise — 5A
Q1. (a)90°=90°-90°=0°
(b) 80°=90°-81°=9°
(¢) 27°=90°-27° = 63°
(d) 9°=90°-9°=8I°
Q2. (a)99°=180°-99°=81°
(b) 170°=180°-170°=10°
() 111°=180°-111°= 69°
(d) 63°=180°-63°=117°
(e) 95°=180°-95° = 85°
Q3. Complementary = None
Supplementary = ¢, d, f
Neither complementary nor supplementary = a, b, e
Q4. L1=50°
£3=180°-«1
=180°-50°=130°
£2=180°-£3
=180°-130°= 50°
Z£4=180°-50°=130°
Q5. (a)2x+30°=3x-20°
(vertically opposite angles)
50°=x
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2x+30°

3x-20°

(b) 3x —10+2x—-20°=180° (linear pair)

=5x—30°
=180°
5x =30°+180°=210°
2x-20° 3x—-10°
X = iﬂ = 42°

Q6. Ratio of two angles of the linear pair =2 :1

Let ratio be 2x : 1x

2x +x =180° (Linear pair)
3x =180°
x =60°

So, the angles are =2 X60°=120°; x = 60°
Q7. The angles are complementary and equal.

Then x+x=90°

2x =90°
x =45°
Q8. Let the equal angles be ‘x’
x+x=180° (supplementary)
2x =180°
x =90°
Q9. £DOC, LCOB; £COB; £LBOA; £DOB; ZBOA; £ DOC;
ZC0A
Q10. (a) No
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(b) No
(¢) No
Q11. (a) LABD + ZCBD = 90° (given)
So, 2x—15°+x—15°=90°
3x —30°=90°
3x =120°
x = 40°
So, ZCBD =x—-15°=40°-15°=25°
(b) Supplementary of ZABD
as  LABD =(2x—-15°)
(2x40—-15°)=80°-15°
= 65°
Q12. (a)90°
(b) equal
(¢) supplementary
(d) 180°
= Exercise — 5B
Q1. (a) PLX, LMR; XLQ, LMS, PLM, RMY; QLM , SMY
(b) LMR, QLM ; ZMS < PLM
(¢) PLX, RMY, XLQ, SMY
(d) PLM, LMR; QLM , LMS
Q2. Z1=65° (Given)
Ll=ZL2 (Vertically opposite angles)
ie., £2 =65°
L2=/3 (Corresponding angles)
£3=065°
L1=/8 (Corresponding angles)
£8=065°
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L1+ £5=180° (linear pair are supplementary)
Z£5=180°-65°=115°

£5=115°
L5=2117 (Corresponding angles)
L7=115°
£L5=/L6 (Vertically opposite angles)
£6=115°
£L6=/4 (Corresponding angles)
£4=115°
Q3. Do yourself
Q4. InA ABC
LA+ LB+ ZC=180° (sum of all angles of a
triangle)
Z y+60°490° = 180°
Zy=30°
ZQAC = LZACB  (Alternate interior angles)
ie., £ z=90°
Lx+ ZLy=90° (Complementary)
Zx =90°-30°
Zx =60°

Q5. (a) 41, £4; L2, /3
(b) L1, L7, £3, £5; £2, /8; 4, £6
(c) L1, £3; £2, /4
(d) £2
(e) L6
) £7, £5; £8, £6
(g) L1, £3; L2, /4
Q6. (a) ZLa=110° (vertically opposite angles)
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Zb+ £110°=180°

(supplementary)

Zb=170°
(b) Zb=130° (vertically opposite)
ZLa+ Zb=180° (Supplementary)
Za =180°-130°= 50°
() Zb=105° (corresponding angles)
Za+ £105°=180° (supplementary)
Za="T75°
(d) ZLa="170° (Alternate interior angle)
Za+ £Zb=180° (Supplementary)
£Zb=180°-170°
Zb=110°
Q7. (a) Lx = LPOR (Alternate interior angle)
Le, x=28°
(b) x+3x=180° (Supplementary)
4x =180°
x =45°
(c) ZAOC =50° (Alternate interior)
So, Zx + £50+ £48 =180° (supplementary)
Zx =180-98
Lx =82°
Q8. ZA=C (opposite angle)
ZC =40°
LD+ £A4 =180° (sum of adjacent angles)
4D =180-40
£ZD =140°
4D = /B (opposite angles)
£B =140°
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Q9. (a) True

(b) True
(¢) True
(d) False
(e) True

= Multiple Choice Questions

Q1.
Q2.
Q3.
Q4.
Q5.
Q6.

Q7.

(b) 180°

(c) 90 — 36 = 54° (sum of complementary angles is = 90°)

(b)180 — 75 = 105° (sum of supplementary angles is180° )

(a) 180°
(b) supplementary
(b) Let the ratio be x
2x + Tx =180°

9x =180°

x =20°
So, angles are 40°, 140°.
(a) 70° (Alternate interior angles)
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(Chapter)

’ /

Triangle and
N Its Properties

w Exercise — GA

Q1. 180 =x+80 (supplementary)
100 = x
As 80+ y=120° (exterior angle property)
y =120°-80°
= 40°

Q2. Letthe 3rd angle is x
65°4+85°+x = 180° (sum of angles in A)
x =180°-150°
x =30°
Q3. Let the ratio be x
Ix +2x + 6x =180°
9x =180°
x =20°
So, angles are 20°, 40°,120°. Obtuse angle triangle.
Q4. Let the equal angle be x.
x +30%°+x =180°
2x =150°
x=75°
angles are 75°, 75°
Q5. The sum of angle of A's are 180°.
(a) 45+60+72=177
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Q6.

Q7.

Q8.

Q9.

No
(b) 48+60+ 72 =180°
Yes
Let the another opposite angle be x and the adjacent be y.

So, x+55=95° (exterior angle property)
x =40°
So, Zx+ Ly +55=180° (Angle sum)
y =180°-95°
y =285°
Let the ratio be x
So, 5x +3x =80° (exterior angles)
8x = 80°
x=10°
and 180°-80°=100° (supplementary)

So, angles are 50°, 30° and 100°.
2x +3x+4x =180°
9x =180°
x =20°
20°,60°, 80°.
Let the angles be x and y.
x+y=40°
y =40°~x
x—y=10°
x —(40°-x)=10°
x —40°4x =10°
2x —40°=10°
2x =10°+40°
2x =50°
x=25°
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25+ y=40°
y = 40°-25°
y=15°
Q10. (a) 38+ x°=70° (exterior angle)
x=32°
(b) Let ZPOR = y; ZQPR = z

110+ z=180° (supplementary)
z=170°
125°=z+x (exterior angle)
x =55°

(c) 105 = x + 60° (exterior angles)

105-60=x

x =45°
(d) Let LZLNM = y; ZNML = z
122°+y =180° (linear pair angles)
y=158°
130°= y+x
130°-58°= x
72°=x
= Exercise — 6B
Q1. (a)6,5,10

6+5=11>10

Yes
(b)3,5,9

3+5=9

No
(¢)6,7,8

6+7=13>8
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Q2.

Q3.

Q4.

Q5.

Yes
(d)3,7,12
7+3=10<12
No
(a) isosceles
(b) equilateral
(c) scalene
(d) isosceles
Given ZDFE = £z =50°
180 =50+ y; So, y =130°
Lx = ZLz+50° (exterior angle)
Lx = £50°+£50°=100°
Given BM = MC (AM is a median)
In A ABM
AB+ BM > AM ...(1)
(triangle inequality property)
Alsoin A AMC
AC+CM > AM ...(11)
Adding (i) and (ii), we have
AB+ AC+ BM +CM >2AM
AB+ AC+ BC >2A4AM
H=15cm; b=12cm
H? = P?+B?
(15)° =(P)* +(12)*
225144 = (P)?
81=(P)?
9=P
So, perpendicular = 9 cm
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Q6. (25)% =(20)> +(b)?

Q7.

Q8.

625 = 400 + b
225 = b>
15=5
25 m 20 cm

.

b

i.e., the distance of the foot of the lader from the building
b=15cm.
(AD)* +(DC)? = (4C)?
(4D)* = (13)* = (5)°
(AD)? =169 — 25
(AD)? =144
AD =12cm
(AD)? +(BD)? = (4B)?
(12)? +(BD)? = (15)*
(BD)? =225 144
(BD)? =81
BD =9cm
(H)* =(6)* +(8)
(H)* =36+ 64
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(H)*> =100
H =10km
Q9. (PR)® =(PQ)* +(QR)’
(PR)* = (3)* +(4)°
(PR)> =9+16
PR=25
PR=5m
(TR)? = (TS)* +(RS)?
(TR)* = (12)° +(9)°
(TR)? =225
TR=15m
Q10. (2)* +(1.5)* = 4B*
4+2.25=(4B)*
6.25 = (AB)?
25=A4B
So, total heightis 2+ 2.5 = 4.5 m.
Q11. A triangle has 3 sides and they have to satisfy the
following
la—b|<c<(a+Db)
length of a side must be less than the sum of other two and
more than the difference between the other two.
Hence, the third side, has to be more than (16 —12) = 4cm.
Also it has to be less than (16 +12) = 28 cm.

It is between 4 cm and 28 cm.
= Multiple Choice Questions

Ql. (a)60°
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Q2.
Q3.

Q4.
Q5.
Q6.

(a) a scalene triangle

(a)
3,5,7
32452 =72
9+25=149
34+ 49
(b) 360°
(a) hypoteneuse
(a)
ZPRB =30+60=90 (exterior angle)
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w Exercise — 7A

Q1.
Q2.
Q3.
Q4.

LAOC = £ZBOD

Yes

Yes

(a) if they have the same length
b)ym<A=m<B

(c) 60°

w Fxercise — 7B

Q1.
Q2.

Q3.
Q4.

Do yourself
In A AOC and A DOB
We can use 4S54 congruence rule as
ZOCA = ZODB ="70°
AC=DB=3m
ZLCAO = ZDBO = 80°
A AOC = ADOB (By AS4)
Do yourself
A ABC be an equilateral triangle
AB=BC=AC
(All sides of equilateral triangle are equal)
Toprove: L A= £ZB=ZC =60°
AB = AC
= LC=4B
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Q5.

Q6.
Q7.

QS.
Q9.

Q10.

Also
=

(Angles opposite to equal sides are equal)

A

B : C
AC = BC
/LB = /A

(Angles opposite to equal sides are equal)

From (i) and (ii)

LA=4LB=1C

In A ABC

=
=

LA+ LB+ £ZC =180°

..(0)

..(i)

.. (i)

LA+ LA+ L4 =180° [From (iii)]

3244 =180°

414:180

ZA =60°
LA=2LB=ZC=60°

(a) Yes
(b) Yes
(¢) Yes
Yes, by SAS congrence rule

(@)

AABC = AXYZ

So, ZP =40° and Zp=25°

x=6z=8

Do yourself
(a) Yes

Vidyalaya's Teachers Manual Maths-7/59



(b) AC, CA; DC, BA; ZOCA, ZBAC
(¢) ZLACB

(d) Yes

= Multiple Choice Questions

Q1.
Q2.
Q3.
Q4.

(d)
(@)
(b)
(@)
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(Chapter)

Comparing
N1 Quantities

w Exercise — SA

Q1. (@) 10mto25cm
I m=100cm
10m=1000 cm
1000 _ 40
1

Ratio =

(b) 15kgto 210 kg
[5+3 =50+5:L or 1:14
2103 70+5 14
(c) 8 minutes to 120 seconds
1 minute = 60 seconds
8x60 =480
480 4
120 1
(d) 21 days to 2 weeks
1 week = 7 days
2 weeks = 14 days
21+7 3
147 = 5 =3:2
Q2. Total 35; Passed = 30; failed = 5

30
a) —or6:7
()35
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Q3.

Q4.

30
b) —or6:1
()35

5
¢)—orl:6
()30

(d)ior1:7

91+13 7

52+13 4
225+75 3

375+75 5

900+300 3
© 5o =
2100+300 7

1
8

(@)

(b)

250 250

@ 000 " 250

18631 6
(© -2
40331 13
384128 3
® ozizs 5

3 4
a) = or—
(a) 5

4
3><5 dﬁ
4><5 5x4

_ 15 16

" 20 20
4.
So, 3 1s greater.

5

b —or—

(b) T
21><3_Q 5x4 20

24x3 72| |18x4 72
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63 20
_— > _
7272

21.
So, — is greater.
24

17x2 _347719%x3 27
21x2 42| _J14x3 42
34 27
_—
42 42

17 .
So, — is greater.
21

QS. Let Khushboo got X x
then honey got = 1250 — x

x 2
250-x 3
3x =2500-2x
5x =2500
x =500
1250 -500 = 750
500, 750
Q6. Anuj income =3 5000 Amol income = 6000
spend =3 4500 spend =3 4500
save =3 500 save =3 1500
(@) 2002
6000 6
500 1
(b) 1500 3
R
500 1
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6000 4
@ ==
1500 1

Q7. Width=30m
length _3 _ length = 5%30
30 2
Length=5X15=75m
Q8. Let the ratio be 3x, 2x, Ix
3x+2x+x=36
6x =36
x=6
So, sides are 3 x6,3x6,3 x1=18,12,3 cms
Q9. 12:x::8:14
12 8
x 14
12x14
2 =X

x=21

X
12
36=1x>
x=6
= Exercise — 8B

Q1. (a) Worker earn in 15 months =% 18000

1 month = M
15

Q10. > =
X

7 months = % X7

=3 8400
(b) ¥ 18000 earn in = 15 months
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3 1eamn 1—5

~ 18000
15
230,000 earn = —— x 30000
13000

= 25 months
Q2. Total weight = 40 x25
=1000 kg
1000 kg weight cost =3 2750
. 2750
1 kg weight cost = 1000
As total weight =35 x50
=1750kg

1750 kg weight cost = 2750 x1750
1000

=4812.5
Q3. Car travels

600 km = 8 hours

1 km= i
600

850 km = 8 x 850
600

_68
60

lll hours or 11 hours 20 minutes.
. 1
Q4. (A+ B)work in 1 day= g

(A+C)workin 1 dayzi
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(B+C)work in 1 day=§

2(A+B+C)w0rkin1day=1+l+l
5 4 3
_12+15+20
60
_47
60
(A+B+C)workinday:ﬂ><l:ﬂ
60 2 120
[(A+B+C)—(B+C)]workin 1 day = = — 1
Y 120 3
(A+B+C—B—C)workin1day:47_40:L
120 120
So, Awork in 1 day = ——
120

A will complete the work in @ days or 17% days.

Q5. Given; 8 cows = 6 oxen
So, 4 cows = 30 oxen
6 oxen can eat the grass field in = 12 days
1 oxen can eat the grass field in = 12 X 6 days

4 cows + 9 oxen = 3 oxen + 9 oxen = 12 oxen
12x6

12 oxen can eat the grass field in = = 6 days

Qé. (A+B+C)Workin1day:%

Bwork in 1 day = L
30

Cwork in 1 day = S
40
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| 1 1
A+B+C)—(B+C)workinl day=——| —+—
( )= (B+O)w T (30 40
or Awork in 1 day:w
120
1
120

So, A will complete the work in 120 days.

Q7. 20 men will complete the remaining work in

=10-3 = 7 days
1 men will complete the remaining work in
= (20 x 7) days
20 -5 =15 men will complete the remaining work in
_20x7
15
_28
3
1
= 9—days
3 y
Q8. X 4 p 6
y 10 20 q
As per statement x and y are in the direct proportion.
So, 4_r
10 20
4x20= pxl10
4x20
= = 8
=0
Also, i = 9
20 ¢
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8x¢q=6%20
_6x20
e
So, p=8and g =15.
= Exercise — 8C

15

Q1. (a)12%%0f64

25x64 _
2x100

(b) 75% of 400

EEl x 400 =300
100

25
2. (a) — x100 = 25 students
Q2. ( )100

(b) ﬂ><8O =16 men
100

Q3. (a)T40f% 40

A 100=10%
40

(b) 12 minutes of 1 hour or 60 minutes

12 x100 =20%
60

(c) students of 25 students

ixlOO: 20%
15

(d) 3 months of 12 months

3 x100 =25%
12

Q4. (a)T500is T 600
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@ x100 =120%
500

(b) 80 m is 24 m
24 x100 =30%
80

(c) 45kgis90 kg
90
— %100 =200%
45

(d) 30 km is 7.5 km
73 x100 =25%
30

2 200 2
5. (@) =x100="—=66=%
Q5. @3 3 37

35 200 633

18
20
18

2

) L x100=20 — 183104
6 3 3

© L x100=22 11310,
15 3 3
5 100 500 _.3
6. (a)ox—— =2 _ 7120
Q6. (@) x—m=" 77
) 2x 190 2990 _ 4500,
271 2
© Hx100=2Y - 18310,
6 3 3
07. Px100=12_g710,
48 2 2

Vidyalaya's Teachers Manual Maths-7/69



24
8. (a) - x100 = 24%
Q8- @700 °

275 100

(b) == x— =27.5%
1000 1
84
9. —x100=120
Q 70
136 9
10. (a) —=1—
Q ( )100 25
400
b)— =4
(b) 100
w Exercise — 8D
Q1 6—0><2500—1500bo S
" 100 Y
=2500-1500
=1000 girls

Q2. Airline ticket costs =3 12800
5

Tax =12800 x — =3 640
100
Total Costs = 12800 + 640
=3 13440
Q3. Increase in population = 56000 — 48000 = 8000
Original population = 48000
Increase = 800

Percentage of increase = 8000 %100
48000

=&orl6g%
3 3

~162%
3

Q4. decrease in price =3 9000 - 7500 =3 1500
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% decrease = % %100

=0 1620,
3 3
20
Qs. 100 %2400 = 480 gm ghee

30 %2400 = 720 gm sugar
100

S0 %2400 = 1200 gm besan
100
So, we used 480 gm ghee,720 gm sugar andl 200 gmbesan.

Q6. Increase in salary =3 15000 — % 12000 =X 3000

So, % increase = ﬂ X100 =25%
12000

w Exercise — SE

Q1. C.P.=%7500;S.P.=% 6600
Loss =% 7500 — % 6600 =¥ 900
Loss x100
C.P.
~ 900 %100
~ 7500
=12%
Q2. LetS.P.ofl10eggs=x

Loss % =

le -*
gg 10

C.P.of 12 eggsisxg.
X
CP.ofleggis=—
2g D

Profit= L
10 12

Vidyalaya's Teachers Manual Maths-7/71



X %100
Profit % = 60
X

12
_100x x12
T 60xx
=20%
Q3. Total C.P.=%1215+335=31250

16‘V—PX100
o_

16 x1250
100
P =200
SP.-CP.=P
S.P.=P+C.P.
=3200+31250
=31450
Q4. For Anil; C.P.=3200; P =20%
C.P.x (100 + P%)

=P

S.P.=
100
gp _ (100+20) C.P.
100 1
s.p.= 120200
100
S.P. =3 240

S.P. of Anil is C.P. to Ajay =% 240
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For Ajay

(100 - L%)
100

_ (100-10)

S.P.= xC.P.

%240

= % x24
=9x24
=3216
So, Atul pay X 216 for this book.
QS. Let the shopkeeper buys greeting cards of first kind 300

and second kind 300.
So, C.P. of first kind = % x# =3 240

So, C.P. of second kind = % x@ =3 400
So, total cost price for (300 + 300) = 600 greeting cards

=240+ 400 =% 640
S.P. for 600 greeting cards = % x@ =3 600
So, loss =3 640 —600=73 40
140 100

Loss %= —xX
640 1

Q6. Let the shopkeeper buys 100 pencils and 100 pens.
Cost price of pencils =3 1.5 x100
=3150
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Cost price of pens =3 2.25 %100

=3225
Total cost price of both =X (150 + 225)
=3 375
S.P. (1004 100)— 200 pens and pencils = 200 x 2
=3 400
So, Profit =3 (400 —-375)
=325
Profit % = 2—5x@ = §0r6%%
375 1 3 3

w Exercise — 8F
Q1. P =%15000; R =5%:; T =3 years

S = PXRXxXT
100
_ 15000x5x3
100
S.I.=32250
A =3(15000+2250)
=317250
Q2. A4=%4130
A=(S.I+P)
S = PXRXT
100
_ 3500xRx2
100
= 70R
4130 = 70R + 3500
630
%:R
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R=9%
Q3. P =25000; T =4, R=9%
25000 x4 x9
100
=39000
A= (S.1+P)
=3 (9000 +25000)
=3 34000
Q4. P =640; A="768
SI.=(A4-P)
= (768 — 640)
=3128

S.I =

640><R><§
2

128 =
100

5x640
R=8%

Then, R = 8%; A = 686; T =3 years
P x8x3

100

=0.24P
A=P+S.1L

868 = P +0.24P
868 =1.24P

2x12800 _

S.I=
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868
1.24

P =3700
QS. Principal +6 years simple interest =3 5112

Principal +% years simple interest = I 4734

B years simple interest = I 378

. . 378 x2
1 year simple interest =

=252

6 years simple interest =252 x6 =3 1512
Amount =% 5112

S.I.=X%1512
Principal = 3600
S.I.=X%1512

Time = 6 years
Rate = S.I.x100
PXxT
_ 1512100
©3600%6
=T7%
So, Principal =¥ 3600
Q6. Let the principal be =3 100

Amount =2 x100

=3200
Simple interest =¥ 200 — T 100

=3 100

So,

Time = 125 years = e years
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S.1.x100
PXxT
_ 100100

lOOxé
2

Rate =

_100x100x2
©100x25
=8%
Now principal =3 100
Amount =3 x100=7% 300
Simple interest = I (300 —100) =% 200

Rate = 8%
Time — S.1.x100
P xR
200 %100
100x8
=25 years
= Multiple Choice Questions
Q1. (b)
8_3
x 9
24 =x
Q2. (a)
1m=100cm
1000 = 40 or 40:1
25 1
Q3. (b) A car goes
300 kmin=251/

or in 25 litres = 300 km
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Q4.

Qs.

Q6.
Q7.

Q8.

in 1 litre = @ km
25

in 80 litres = @ x 80
25

=960 km

(b)
9 kg = 72 books

72
l kg=—
s 9

6 kg = 8 X6 = 48 books
(b)ixloo =5%
160

(a)EXIOO: M =40
75 45
(b) C.P. =500 Gain = 5%
0
SP. = (100 X G%) y C.P.
100 1
= ﬁ X500
100
=3525

(a) 12 forX 10

C.P. 12 for% 10

lfor?goré
12 6

S.P. 4 for%5
1 for? 2
4
as S.P.>C.P.
So, Gain=% (2 - éj
4 6
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_53-2)

5

—x100
P, = 12 :iX100x6
5 12 5

6
_500x6
©12%5
= 50% gain
600 x12 x1

100
=372
S.I.x100
RXT
_ 1020 x100
© 4x3

=3 8500

Q9. (b) Simple interest =

Q10. (c) Principal =

Vidyalaya's Teachers Manual Maths-7/79

PRk gk



(Chapter)
/ /

[ ]
Rational
N1 Numbers
> Exercise — 9A
Q1. (a) Yes
(b) Yes
(¢) Yes
(d) Yes
20 4 205
2. (A)—=— as —_—
Q ()45 9 45 +5
(b)__16=__4=__2 as —16+8
24 6 3 24 +8
48 3 —48 +16
©€)——==- as
-32 2 3216
—3X5 -3x6 -3x7 -3x8
Q3' (a) 9 9 )
55 5x6 57 5x8
15 18 21 24
25730 357 40
2x4 2X5 2x6 2x7
(b)

—3x4’-3x5 -3x6 -3x7
8 10 12 14
12715718 =21

I1x5 1x6 1x7 1x8

—6x5 —6x6 —6x7 —6x8
5 6 7 8
T 307 36" 42" —48

(©)
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Q4.

Qs.

Q6.

—-1x4 —1x5 —-1x6 —-1x7

(d) , , ,
4x4 4x5 4x6 4x7

716720724728
(a)_—5><i =45+ —45;No
-9 -9
(b) L x> = —40£ 112: No
8 16
(¢) éxl—s =105=105; Yes
7 21

@) L x = =122 212:No
3712

4 8 12 16
@7=— "

9 1827736

14 21 28

-18° =277 =36
5 10 15 20

(C)—:—,—,—
-3 -6 -9 -12

7
(b):g-—

4 8 12 16
(d)_:_a_’_
5 10 15 20
-7 x
a) — = —
@) 16 064
-7 4 =28
X — =

1674 64

or loxx=-7x64,

5 40
b) —=—
( )8 .
Sx=40x8
408
x: =
5

64
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c)—=—

()9 27
x:lxgzl

9 1

Q7. (a) Let us write —1 and 0 as rational numbers with

denominator 6.

five rational numbers between —1 and 0 would be
-5 -2 -1 -1 -1

632736
(b) Do yourself
-4 -2
¢) —and —
(c) 5 3

. —4 -2 ) )
Let us write — and — as rational numbers with the same

denominators.
-4 -36 -2 =30
= —=—— an —_ =
5 45 3 45

-36 -35 34 -33 -32 -31 -30
< < < < < <

45 45 45 45 45 45 45

4 -7 34 -11 -32 -31 -2

— < —< < < < < —

5 9 45 15 45 45 3

=

) -4 -2
five rational numbers between ? and ? are :

-7 =34 -11 -32 -31 -2

9745715745745 3
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(d) Do yourself
Q8. Do yourself

-7
Q9. (0=
3x12 36 7x5 _35

(b) =—an =—
5x12 60 12x5 60
Since—>£

60 60
3 7
_>_
5 12

(c)3x13=§ and _6X7=i'2
7x13 91 13x7 91
Since—>L‘r2

91
3 -6
_>_
7 12
-7 -7
@ —[=1—
9 9
S5x%x1 5 —4x2 =8
10. == =
Q ()61 6 3x2 6
5 -8
Since, — L =1
6 6
-5 —4
_-> N
6 3
1x3 3 Ix2 2

(b) === o=
2x3 6 3x2 6
Since, %%

1 1
55
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(© 8XB_Z64 o D9x9_ -8l

9Ox8& _7 & %9 _H
-81

2

Since, ?%?IIEII
-8 -9
7?

@32 B_3x5_-ls

7 7 7x5 35

4 -19 -19x7 -133
and —3—= = =
5 5 Sx7 35
Since, ﬂﬁ
35 35
2 4
—37 —3§
-3 -2 -1
11. (a) — < — < —
Q @) 5 5 5
4 2 3 11
b R R}
( )7 5 14

1
40 28 210 55

y , (same denominator)
7070 70 70
No 28 40 55 210

W — s )
70 70 70 70

Now,_—12<_—2<i

9 9
(Converting into same denominator)
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-4 2 1
9

3 3

-1 -12 4

12. (a) —,—, =, =

Q2 @730
—6 =5 20 12

30730°30°30
Now20 512 =5 6
30 30 30° 30

4 -1 -1
>_

2
3

6 5

=

2_4
3710
7 -3 =2
b) —,—,—=
( )11 573
105 =99 —110
165165 165
105 -99 —110
> >
165 165 165
7 -3 =2
= —>—>—
11° 5 3

= Exercise — 9B
-3 .4 _-15+32_17

=

1. a— — =
Q @) 5 40 40
(b)_and—16:7—16:—15
17 17 17
(c)_a d2:2><2+9><9 4+81:§
18 18 18
-4 —
(d)——sa d11 ———5+H
12 18 9 12 18
—16—15+22 —9 —_1
36 36 4
-3 -2 -2 3 -8+4+9 1
2. (a)— from—=—+—= -
Q ()4 3 3 4 12 12
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-6 15 15 6 165+42 207
(b) — from —=—+—= =
11 7 7 11 77 77
1 17 17 1 17-3 14
© T
4 12 12 4 12 12

[(%H%ﬂ-f—l
(@G22

-94 9 -1034- 567 -1601

63 11 693 693
Q3. Let the added number be ‘@’
2 -100
300 33
-100 2
3303
_—100-22  -122
3333
Q4. Let the subtracted one be ‘b’
13 b:E
14 14
13 13
14 14
b=0
Q5. Letonebe ‘@’
_—1+a=—8
9
a=—8+l
9
_=T72+1
9
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9
Q6. (@onLus 2 7 - (13x)+(Tx))_ ~14+39
10 15 20 =
_ 25 5 _ 45
30 5 6

andonRHS_—7+£: 1443945 3

5
10 30 30 5 6
LHS = RHS (hence verified)

) On LHs = 4 17, 21 3x2+17-4 7
2 8 8
OnRHs—l—i T_-e+li 7
48 8 8

LHS = RHS (Hence verified)
— 13 (-5
or. ]2 1)
9 12 36 36 \12 9
IRERRE

36 36
= Exercise — 9C

15 4 15x4
1. —X—=
Q () 7 4x7

60 _15

-3 - 7
© X —=— o=

14
(d)— 5 X

Q2. (a)l

2o 14
7
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Q3.

4
(b) 3

—-11 =20
¢)——=—-
()—20 —11
13 5
d —=—
()5 13
-4 10 —-4x27
@) +5-=
9 27 9x10
_=6
5
-5 3 -5 1
by 5.3 =5, 170
17 170 17 -3
_+50 _ 50
+3 3

11 30 11x-=5
“’TH

-5)  2x30
11
T2
(d)ﬁizﬁxi
15 5 153
8
)

Q4. Let one of them of “x’

Q5. (a) [%5 x_—3} - F x_—n}

7 & 9
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Q6.
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X—=-1

|3

~1x4 -4 17
17 17 4

1

x
I
x

(d)x+(—1)=%

_3
22
=55

X=—
22

17 9) .1
7. | =+ |+2—
Q (5 2) 4

(34+45);g
10 ) 4
79, .4 _158

1079 45
= Multiple Choice Questions

QL. (a)%4

Q2. (c)-3x35=7xx
—-3x35
=X

Q3. (b)—

Q4. (a)—= -
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Q5. (a)g+x:2

4
Q6. (d)g
6
Q7. (C)g
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(Chapter)
/ /

Practical
/ Geometry

= Exercise — 10A

Do yourself
= Exercise — 10B

Q1.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.

Do yourself
ZR=90°
Do yourself
Do yourself
40°

Do yourself
No
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(Chapter)
' Perimeter and

N—1 Area

= Exercise — 11A
01 [Area to j 3 (Area of j (Area of rectangular)

be painted square wall door frame

Side of awall=a=10m
Area of wall = axa
=10x10
=100 m?
length=7/=3m
Breadth=5b=2m
Area of door frame = /X b
=3x2
=6m’
Area to be painted =100 — 6 = 94 m?
Labour charge for painting 1 m? of wall = ¥2.50

Labour charge for painting 94 m? of wall =¥ 2.50 x94
=X ) x 94
10

=3235
Labour will charge ¥ 235.
Q2. Length of rectangle =/=25m
Breadth of rectangle = b =?
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Q3.

Q4.

Area of sheet = 500 cm?>

Ixb=1500
25x b =500
p_ 500
25
p_ 100
5
b=20cm

Width of the sheet is 20 cm.
Perimeter of sheet = 2(/+ b)
=2(25+20)
=2(45)
=90 cm
Perimeter of a given sheet is 90 cm.
Length of fence required = Sum of given three sides
=12+20+12
=44 m
Cost of fencing 1 m =3 150
Cost of fencing 44 m =% 150 x 44
=36,600
% 6,600 will be needed to fence given garden.
We know in this case
Perimeter of square = Perimeter of rectangle
Side of square = a =10 cm
Perimeter = 4a
=4x10=40cm
Length of rectangle = /=12 m
Breadth of rectangle = b = ?
Perimeter = 2(/ + b)
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=2(12+ b)

Perimeter of square = Perimeter of rectangle

40=2(12+0)
ﬂg:12+b
2
20-12=05b
8=5b

Breadth of rectangle is 8 cm.

Now, Areaof square =axa=10x10=100 cm?

Area of rectangle = / X b = 12 x8 = 96 cm?

Area of square is greater than area of rectangle.
QS. Area of square = Area of rectangle (Given)
Side of square = a = 40 cm
Area of square = a X a = 40 x40
= 1600 cm?

Breadth of rectangle = 25 cm
Length of rectangle = /

Area of rectangle = [ x b

=[x25
=25/ cm?
Area of square = Area of rectangle
1600 =251
1600 _,
25
64cm=/
Perimeter of the rectangle = 2(/+ b)
=2(64+25)
=2(89)
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=178 cm

Q6. Circumference = ntd

220:gxd
7
@x7:d
22
d=70cm

Q7. Perimeter of square = 4x11 = 44

Circumference of circle = td

44:§><d
7

447
2
d=14cm
Q8. /=8.9cmor 89 mm; b=54
Perimeter = 2(/ + b)
=2(89+54)
=2(143)
=286 mm

d

Circumference = % X2Xr

286 X7 ;
22 %2
r=45.5mm

Q9. Letradii be 9x and 16x.

Circumference of 1 _ 2m9x _ 9 or 9:16
Circumference of 2 2ml6x 16 ’

Q10. Circumference of outer = 2nR

132=2><%><R
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132%7 _

2x22

R=21

Circumference of inner = 2mr
88 =2 Xg Xr
7
38x7
=7

2%x22

r=14

difference =21-14=7cm
= Exercise — 11B
Q1. Area of parallelogram = bx h
=4x3

=12 cm2

Q2. Area of parallelogram = b x h

24cm? = 4xx

24

— =X
4
6cm=x

Height of parallelogram is 6 cm.
Q3. (a) Here, Base =CD =6cm
Height = BE =3 cm
Area of parallelogram= b X h
=6cmX3cm

:18cm2

(b) Let the height be BF
Base= AD =4cm
Height = BF = x cm
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et e
—
D E
Area of parallelogram = b x h
18 = AD X BF
18 = 4xBF
BF:g
4
BF:2
2
BF =45cm

height is 4.5 cm
Q4. (a) Area of triangle = % X base X height

=l><4><2
2

= 4cm2

(b) Area of triangle = % XbXxh

=l><3><2
2

=3cm2

Q5. Area of triangle = % Xbxh
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36mn2:%xbx3cm

72=0>bx%3

2
3

b=24cm
BC = base =24 cm
Q6. (a) Base=QOR=4cm
Height = PL =5cm

Area of A ABC = %xBase X Height
= l><4><5
2

=2x5=10cm?
(b) Base = PR=8cm
Height = OM =?
Area ofAPQR:%xbxh

10:%><PR><QM

10:%><8><QM

10 = 4x OM
10
—=OM
1 0

5

Z=-0OM
5 0

OM =25cm
Q7. Arca=28 m; Perimeter = 28 m
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Perimeter § B

Side of the rhombus = 7m
4 4
Altitude = Area = § =4m
Base 7

Area _ ﬁx@
Base 2.50 10
=90cmor 0.90 m
Q9. r=50mR=71m
Area= A4, - 4,
=n(R* = r?)=n[(7)* - (50)*]
= m(5041-2500)

Q8. Altitude =

2—72 %2541 = 7986 m>

Area = 7986 m>

Soil preparation cost =X 2 per m?

So, Total cost = 7986 x2 =3 15972
Q10.17,15,8 cm
(17)% = (15 +8)
289 =225+ 64
289 =289

right angled As = % x15%8

Area = 60 cm2

= Multiple Choice Questions

Q1. (d) Areazéxbxh

21:%><6><h:3h
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b
3
h=7cm
s
2. (¢)s=—
Q2. (¢ 5
Area = (s)2 % of the original area
(s) 52
=|—|or—
2 4
Q3. (d) Cllrcumference of 1 _ 27:5 _ i _5.7
Circumference of 2 ro 7

Q4. (b)/=3Lb=0>
Area=[xb=3/xb Three times the original area

Phokoke
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(Chapter)
!

) Algebraic

N—1 Expressions

= Exercise — 12A

Q1.

Q2.

Q3.

(a) a® — b* = binomial
(b) xy + yz + zx = trinomial
(¢) 67x = monominal
(d) 2x — z+ 4 = trinomial
(e) ax>+bx’+x+d= quadrinomial
® pzq +qr+ r3q = trinomial
(@2x+3y-5
2x,3y,-5
(b) 3x° +5y4 — 7x2y
3x5, 5y4, - 7x2y
(©)ab—a->
ab,—a,— b
(d) —4x+5y
—4x,5y
(a)ab—(a+b)
(b)10—yz

(©) x? + y?
(m%u+w

(e) z°
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Q4. (a) 2pg=-2¢q
(b) pgr=qr
(c) 8pr? = 82
() ~9pgr? = —9gr*
Q5. (a)—x2+3-3y2=-13,-1
(b)x3 —7xzy+5xy2 -2=1-7,5-2

Q6. (a) x2y2, + 2xy; unlike terms x2, yz, + 2xy
(b) 8x4y, — 7x3y2; + §x2, y22 = unlike terms

©)3y,—2y,+7y;,—2y = like terms
(d) 4xy, 2x? y, — 3xy2 = unlike terms
(e) abzx, atb? ¢, abc = unlike terms
) Sabcz, - 4ab02, 8abc? = like terms
Q7. (a)abc+ a’be+ ab’c® + abc* = 6
(b) 2x%y —3xy + 4x =3
(©3y2-2y° +6y* +21y+7=5
(d) %x3 —%x2y2+%xy+z= 4
= Exercise — 12B
Q1. (a)dxy+2xy+5xy=11xy
b)2x+3y+z+2x—y—z=4x+2y
(c) 6x2 = Tx+1-3x2 +4x+2+ x> —x—3=4x% — 4x
(d) -7mn+12mn+9mn—-2mn+5+2—-8—-3=12mn—4

(€) 5> +7a+3+12a%> —3a+8+16a> —da+7
=33a% +18
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Q2.

Q3.

Q4.

Qs.

Q6.

Q7.

Q8.

(a) @’ +2a°b+6ab* — b> from b> — 3ab? — 4a°b
b® —3ab* - 4a*b - a® - 2ab—6ab* + b°
263 —9ab? — 64%b* — &°

(b) —7x +Tx+2-6x> +3x—4
~13x2, +10x -2

(©) 5p° +3¢° = 99— 4pq+5¢° +3p;’
8p” +8¢”° —9q—4pq

d)(a+b—a+b)
2b

Total length of two ropes = 4x +3 +6x -7

= (10x — 4) metres
Perimeter = 4 X side
=4x(5x+4)
=20x+16

6x2 +5x+38

2x2 — 4x + 3 were girls
boys=6x2+5x+8—2x2+4x—3

= 4x% +9x+5

Let the subtrahend number be x.

2m+8n+10+3m—-Tn—-16=x
Sm+n—6=x

So, 2m+8n+10—x=-3m+ Tn+16]

3x+2y+3z+3x—-4y+5z

=6x—-2y+8z—(6x+7y—-2z2)

=6x—2y+8z—6x—T7y+2z

=-9y+10z
3a—-5b+3c+2a+4b-5c
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=5a-b-2c—(4a—b—c+3)
=5a-b-2c—4a+b+c-3

=a—c-3
= Exercise — 12C
Ql. (a)3a-5
32)=5=1
(b) 9-5a
9-52)=-1
(©)3a® -2a-17
=32)?-2(2)-7
=3(4)-4-17
=12-4-7

=1
Q2. (a)2xr-x-2
=2(-1)° - (-1)-2
=+2+1-2
=1
(b) —x +2
=—(-)+2
=3
(©) x2 +2x+1
= (-2 +2(-1)+1
=1+(-2)+1
=0
Q3. (a)a’+h?
= (2% +(-2)°
=4+4=8
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Q4.

Q5.

(b) a® + ab+ b*

=(2)* +(2)(=2)+(-2)*

=44+(-4)+4
=4
() a® - b*
=(2)> - (-2)
=4-4
=0
(@)3(x+2)+5x-7
=3x+6+5x-7
=8x—1
=8(12)-1=15
(b) 6x+5(x—2)
=6x+5x—-10
=11x-10
=11(2)-10
=12
(©)42x-1)+3x+11
=8x—4+3x+11
=1lx+7
=112)+7
=29
(a)2-8x+4x+4
=—4x+6
=—-43)+6
=-12+6
=—6
(b)10-3b6-4-5b
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=6-8b
=6-8(-2)
=6+16
=22
(©2a-2b—4-5+a
=3a—2b-9
=3(-1)=-2(-2)-9
=-3+4-9
=1-9
=8
(d) 2(a® + ab)+3—ab
=2a’ +2ab+3— ab
=2a’ +ab+3
=2(5)> +5%(-3)+3
=2x25+(-15)+3
=50-15+3
=38

= Multiple Choice Questions

Ql.
Q2.
Q3.
Q4.
Q5.

(c) trinominal expression
(c) Constant term
(b)12as3x2+2x3=12
(b)0—-(Sa+4b—-3)ie,—5a—4b+3
(a)3
4x—-4=5+x
4x-x=5+4

3x=9=x=3
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(Chapter)
/

Exponents and
N Powers

" Exercise — 13A

2V 2 2 2
Q1. (a)(gj _gxgxg
8

117117117 11 14641

36 x6 (6)

o ‘”(‘J‘T—@
S
7

4
(d)(ij 8 8><8><8—4096
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Q3. (a) 156; Base =15, exponent = 6
(b) (%f; Base = _71, exponent = 3
(¢) 12_7; Base =12, exponent = -7
(d) 8" Base = 8, exponent = x + y
Q4. (a)3600=2% %32 x52
3600
1800
900
450
225
75
25
5
1

N DN W]WIN|N NN

(b) 540 =22 x33 x5
540
270
135
45
15

N| W] W|lWIlIN [N
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(c) 405=3%x5

405

135
45
15

DN | W | W |Ww|Ww

(d) 648 =23 x34
648
324
162
81
27

Wl WlWlWIlIN NN

Q5. (2)2'°=1024and10% =100

2195102

(b) 2% =256 and 82 = 64
28 582

(€)5° =125and 3° =243
5% <3

(d) 4> = 64and3* =81
43 <34
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-1 -1\
Q6. (a)E = (—]

2
b o Ax4 (ij or
100 10x10 10

144 12 %12 12\
) — = = | — or
256 16 %16 16

()( j § : ( j
27 3x3x3 3

Q7. @) (-3 = —3x-3x-3x-3 = (_

3
(b) (-4 = -4x-4x-4 = (_71)

2 2

-5 -9

)| — = reciprocal | —
(5] = weimoca7)

5 8

-7 —11

d)| — = reciprocal | —
()(uj b ( 7 )

Q8. 1,-1,1000, 625
w Exercise — 13C

o of2)" {4
O]

5x5x5x5x4x4x4x4x4
2X2X2X2 S5X5X5%X5x%5
64

5

Vidyalaya's Teachers Manual Maths-7/111



Q2.

25x5%x5% 18
10x10x10x ¢4
5¢
By

A

—1+(-2)+4

(b)

(©)

<€ QW 9w

'3

3><3><3><3><3><10><10><10><10><10><52

(d) -
5" X6X6X6X6X6

=1
(a)3.8
3.8x10°
(b) 6700
6.7x10°
(¢) 54300
5.43x10%
(d) 92 lakh = 9200000
9.2x10°
(e) 0.000008
8x107°
(f) 0.000027
2.7%x107°
() 5.34
5.34x10°
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Q3. (a)3.5x10% =350
(b) 5.81x10™* = 0.000581
(¢) 2.9275 = 2.9275
(d) 0.024x10° =24
(e) 6.007 %10~ = 0.0000006007
(f) 1.0009 x10% = 100090000

Q4. Sound travels 3.3 x 10%em/ sec
or 33000 cm/sec
Q5. (a)3x10% m/s
(b) 3.84x10% m
(©)1.4%x10° m
(d) 1.353%10° km>
(e) 1x10'"!
= Multiple Choice Questions
Ql. (b)25+25=1
1 1x4

3
1 2
2. (¢)| = | x4is —— = —reciprocal = —
Q ()Zj g~y reeip .

0 4
Q3. () @)] D=1

Q4. (05" V=5
x—1=4 = x=5
Q5. (b)4¥+4 =
as(4)’ =1, so  4¥H =40
4x+4=0

x=-1
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10 =5x
2=x;
Q7. (a)0.00003x10° =30
greater than 1
Q8. (b)6.4x10%
6400
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(Chapter)
/ /

N Symmetry

= Exercise — 14A
Q1. Do yourself
Q2. Do yourself
Q3. (a)true
(b) true
(c) false
(d) true
Q4. (a) Vertical mirror— A, H, LM, O, T,U,V,W, Xand Y
(b) Horizontal mirror - B, C, D, E, H, I, O and X
(¢) Both horizontal and vertical mirror — H, I, O and X

Qs.
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(c)

(d)
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= Exercise — 14B

Q1. Do yourself
Q2. (a)4
(b) 5
(© 6
(d) 2
Q3. 5
Q4. Parallelogram
QS. Equilateral triangle, Square
Q6. Square
Q7.
Shape Centre of Order of | Angle of
Rotation Rotation | Rotation
(a) [Square Intersecting point 4 90°
of diagonals
(b) |Rectangle |Intersecting point 2 180°
of diagonals
(¢) |Circle Centre infinite | At every
point
(d) |Hexagon |Intersecting point 6 60°
of diagonals
(e) |Rhombus |Intersecting point 2 180°
of diagonals
() |Semi-Circle|Mid  point  of] 1 360°
diameter
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= Multiple Choice Questions

Q1.
Q2.
Q3.
Q4.
Qs.
Q6.
Q7.

(b)
(a)
(b)
(d)
(c)
(a)
(a)
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Chapter

/ / o o o
@ Visualising
N Solid Shapes

w Exercise — 15A

Q1.

Q2.

(a) True
(b) False
(¢) True
(d) True

Shape No. of faces

No. of edge

No. of vertex

(2)

Cuboid

6

12

8

(b)

Cube

12

(©)

Sphere

0

(d)

Cone

1

(e)

Cylinder

2

Q3.

= Exercise — 15B

)V =4,e=4
(b)V =0,e=0
©V="Te=7
@V =0e=2
eV=le=1

Do yourself
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= Exercise — 15C
Q1. Do yourself
Q2. (b)
Q3. Do yourself
Q4. (a) book, brick, bus, box
(b) pipe, pen, jar, wire
= Exercise — 15D
Q1. (a) 10
(b) 10
Q2. 10
Q3. 49
Q4. (a) (i)
(b) (iii)
(¢) (iv)
) (i)
QS. Do yourself
Q6. (a) True
(b) False
Q7. Do yourself
= Multiple Choice Questions

QL. (b)
Q2. (b)
Q3. (o)
Q4. (d)
Q5. (o)
Q6. (a)
Q7. (b)
Q8. (b)
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